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QUESTION 1

When two routers exchange LSDB information using DD packets, a master/slave relationship is formed first, the router
with a larger router ID is the master, and determine the MS bit. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 2

The filter-policy 2000 export command is run in an ISIS process. Which of the following statements about the functions
of a filter policy is false? 

A. Is used together with the route import function to advertise some imported external routes to neighbors. 

B. If this command is not run, the device by default advertises all routes that ISIS Imports form external routing
protocols. 

C. Controls the advertisement of routes generated by the device. 

D. Filters LSPs to be advertised. 

Correct Answer: B 

 

QUESTION 3

A local router runs IS-IS and its command output is shown in the following figure. Which of the following statements is
true? 
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A. The circuit level of S4/0/0 is Level-1. 

B. S4/0/0 supports IPv6. 

C. S4/0/0 sends IIH packets at the interval of 30s. 

D. The cost of S4/0/0 is 20. 

Correct Answer: C 

 

QUESTION 4

Which of the following TLVs is used by ISIS to describe the IP address of an interface? 

A. 129 

B. 131 

C. 128 

D. 132 

Correct Answer: D 

 

QUESTION 5

What parameters can a DHCP6 server assign to a DHCPv6 client? 

A. Gateway address 

B. DNS server address 
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C. IPV6 address/prefix 

D. SNTP server address 

Correct Answer: D 
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